PROGRESS FROM FEEDBACK   -   ADDITIONAL PRACTICE EXERCISES   

Costs, revenue and profits
NAME:  _______________________________
1.Smith’s Confectioners Ltd had the following costs and revenue:

Costs


Revenue


£2,318,000

£2,770,000

How much profit did the business earn? 

2.A If a London tourist bus company sold 3000 tickets a day at £2.20 each, what would be its daily sales revenue? 
3. A business sells sandwiches at £1 each and it has 160 customers a week, what is the businesses weekly sales revenue?
4. Explain the difference between fixed cost and variable cost. 

5. A greengrocer buys a box of peaches for 50p and sells them for £1. She must also pay £300 in weekly rent and  other fixed costs.

a) What is the total cost of selling 500 boxes of peaches per week? 

b) What is the total cost of selling 1000 boxes of peaches per week? 
c) What revenue does the business make from selling 500 boxes of peaches per week?
d) What is the profit or loss made if they sell 500 boxes of peaches per week?
